[ Efficiency_in_layer_12 §

efficiency

efficiency

efficiency

1 — 00900 00000000009000000000000000e0009009000000000
09
0.8 —
0.7 —
0.6 =
05 wheel 1 chamber 1 sector 10 sl 3 layer 4 I
' o 10 15 20 ZE)I — 30 — 35 — 40 — 45 I IceI”
[ Efficiency in_layer 11 |
1 900000000090 00000000%09000000000000,000040%00900¢
09—
0.8 —
0.7 —
0.6 =
05 wheel 1 chamber 1 sector 10 sl 3 layer 3 I
' 5 10 15 20 25 30 35 40 45
[ Efficiency in layer 10 §
1 7000000000000 00000000000000000000000000900000004900
09
0.8 —
0.7 —
0.6 =
05 wheel 1 chamber 1 sector 10 sl 3 layer 2 I

[ Efficiency in layer 9 |

efficiency

1
0.9
0.8
0.7
0.6
0.5

9V 9000000 OV T OOV T O00UO00°"00 0000000990000 00000000Y

wheel 1 chamber 1 sector 10 sl 3 layer 1 I

5 TO TS 25 30 35 40 45




